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SHRIMP data acquisition logsheet SHRIMP A (@ @on/ovTitanite

Date Sample/Mount(s) | Sample owner SH operator Night-runner(s)
2y /0/// -29 AHS RF Me n/ Serez
Deadtime...... Zgns Kohler aperture....../...&..? ...... Retard../.{‘..;.ﬁé..volts Resoln...?..%...g..:‘j')'
Primary O, on: EPOXY < e ceminmmsues nA  standard ................. nA  PostESABMonstd .....................
Raster: Time (mins) ........ 2~ .......... Aperture ..... /LO ..... No. of scans .......... 6 ......
Zircon/Badd. 196 | 204 | Bk | 206 207 208 | 238 | 248 | 254
Count time (secs) 2 10 | 10 | 10/28,| 30/40 10 5 5 2
Delay time (secs) 8 4 2 4 2 2 3 3 3
Peak centring time (secs) 3 - - 6 - - 3 3 2
Titanite 17200* /204 | Bk 2061207 208 | 248 | 254 | 270
Count time (secs) 2/ [ 10 [ 1011020 [30/10 | S5/ | 5 | 5 | 7
Delay time (secs) &—+3 | 2 4 2 2 43| 3
Peak centring time (secs) 3 - - 6 - - 2 3 3
Offsets
Zircon/Badd. 196-204 204-Bk 204-206 206-207 206-208
Expected offset 8.170 0.040 2.001/9 1.001/5 2.001/9
Setup offsets g.l6e S 0¢ O | A 2.00S| [-00¢ 2.006
Titanite —260%-204 204-Bk | 204206 206-207 206-208
Expected offset /4.136 0.040 2.001/9 1.001/5__{—2.001/9
/Setup offsets / L
Standards
Zircon: BR266 206/238 age = 559 Ma; 903 ppm U
TEM2 206/238 age = 416.78+/-0.33 Ma; U = variable
OGC-1 207/206 age = 3467+/-3 Ma: U = variable
CZ3 206/238 age = 561.5 Ma; 551 ppm U
M257 206/238 age = 561.3 Ma; 840 ppm U
Titanite: Khan 206/238 age = 522.2 Ma; 700 ppm U
ORBA 207/206 age = 2687+/-5 Ma; 150-220 ppm U (ave = 188 ppm)

* Titanite reference peak for m/z 200 is a doublet: use low-mass peak.
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Date .....2 4‘//0// ............ Mount ........ ({726 Page no /
Filename Time UoO/U 196 206 | 206 U Sensit- _Age/Ma Age/Ma SBM
254/238 | Keps | -cps- | (%) | ppm ivity 206/238 207/206 (%)
Alternatives UO2/UO | Ref 254/270 Pb/U ratio 207/206
270/254 | Keps Keps
R. (-1 19:38|&.94| /0 |2300] — | Go= |26 Ssq26 |563# /6|2 o
BR. i-2 | ¢:5%| 7 lo |zqo0| — '7r>’ 25-3 | sw2 & o ~ 15
GGE. 1=\ |w:nl 63 12 Liltoo| 103 | (&L 26-0 | 3640t | 34Lbt G ~ (
BR. 2-(lww2| €| 13 agool02|Gug 256 |Sse2q |Sss2 22| 14
(C.2~(|ll02]| €50 (3 |3000 -4S| /S 25.49 3/oa-t2c,1 4SSt /D (-2
A= liit2e] 223 | /2 |sqgeo| .02 472 1277 1/149252/3 24807 @ | 2.0
. 2-( |:S3| 6€SS| ;3 |2600| — | 163 27.{/ 2492 £23 25'6'7:‘%/‘ (-8
I S | Y 6% | /2 |s900|-02| sip | 2¢.3 |,906 2326 2242| (. 2.
B 13/2:38| 700 | 4/ 2s00].05 G37 | 2¢-F |S¢T = |Sse= 20| /.3
b=l |i1301]| 60| 12 |6200| - |os2]| 240 283% /6 | 2526+ 2 | 2.3
A-S-/1i3:29 €701 /2 |5500].23| 4¢3 2¢-S|2/782/8 |2524 2| /- &
6=) |14:12 6721 /2 |3400|.04| 238 | 257 239 22(|125¢52 Q| /./
AT~ 733 6.57,4 /2 |2200|-071/47 |2€.5 |2454230 255/ £ 7/ 0.47
BR.2-2 |lgs2| 2./2 | // 2bep|.00|ds7 |25.9 Ses 24 |Se=(8 |4.7
A g-/ 52| bas | (I 4200 [-33[398 [ 257 | 1811216 |oa32r 8 |05
B ii=) W37 | 6 4L 12 |2200| — | 145 |259 |24%30+ 32 |25712 +g 2.3
B 2-1 16:59| 619 12 2400 | OB| 1}b | 256 | 2237 %36 | 251221y | 2.2
B 3 39 | (.53 iz 2500 |03 | 1F) |24.7 | 2590 t2b | 2550t 8 2-3
B 4-\ #4364 | 12 13000 |30 | 20+ | 254 |24281% 25737 q ©.&
BR- 3 -1 1300 | €6 13 3o | - | 942 |50 555+ 3 S76 443 2.
85 |180] 66+ | 13 Ja000 [49] 36 |23 | 2311232 2544419 | 23
b (- (659 b6 12 |25 167 | 95-9 [ 2494722 [25%6t g -1
B-F-[ 930l 672 | i2 Jizep |18 | 93 | 255 2u52%32 |25 Fiy | L2
8.7-2 11950 659 | 12 [2600 [Loi | 173 3.9 | 2S%t32|2assu+ 9 [0-7
G.3x1 Wb 6.9 [ 12 [3300].08 232 | 236 [ 8o [AasTR+ 9 |1
L1 [N:031 677 [ 12 [0 | - 907 [9b.4 |S57%3 N6t 0%
R.9-1 PUa] 663 (2 100 = |05 2S5 [2972%29 PG 12 [
B 2207670 12 2800 [ 25] 192 [ 2b-U 1239+ 20 2552+ 10 [ .6
Co 171 S 6971 120 250016 200 [26.8 130+ & [2562%7 | .2
C.2-1 2346l b.Lb | 11 [N00 221263 [22.7120%3% 18 [SLSE 1 .€
BR.5-1 00:4d| b-S1| 12 [2500[-02 [903 (253 [Ss0£ 2 [S 71 % [k 1-3
BR.5-Q 0100 b-6Q | 12 [3500] — [92\ |23 S [Spot 2 021t |7 (2.3
BR.G-3 o119 [6-29 | 13 20000199 [3.8 [S71+ S 579 20 1.8
ORS-ly 0u b4l [ 11 R400]-03[923 [22.0 [Shbt2 [SSLE 17 2.0
BR.S-C 0158 [6.S% | L puod| — 931|218 Sy Sj0r2y (.S
8R.5-6 02:17[6-52 | IV fhool.of [ALI 2.8 157X 4 [SSe 19 |16
Offsets: 196-204 = 95/50 204-Bkg = ~ 94C.. 204206 = 22,995 . 206207 = (00 206-208 = . 2.906
@ e~ fumed (°.

17 5 CAD




................................. Page no
Filename Time Uo/uU 196 206 | 206 U Sensit- Age/Ma Age/Ma SBM
254/238 | Keps | -cps- | (%) | ppm ivity 206/238 207/206 (%)
Alternatives UO2/UO | Ref. 254/270 Pb/U ratio 207/206
270/254 | Keps Keps
BR.S-7 [02:37) .96 | \0 [2400[— [Jp2 |09 [SS5£3 ST +22 | 1.7
BRL-1 J025¢] -10 | 12 |2700[.02] @98 [26.2 [Sk2 £l [SHE G [ 3]
R.7-[ 1032 6.4S| i3 |20 — [K7S [21,.3][cB 2" [61l 2% |OR
BR. b-2 B4y 6 78| /2 |2ée00|.05(024 | 24.4 Sso2¢ |ST 220 7
A | NS —
Offsets: 196-204=........... 204-Bkg=........... 204-206=........

...... 206-207 = ............ 206-208=........




